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Il Semester B.Com. Examination, November/December 2018
(Semester Scheme) (CBCS) (F + R) (2015-16 and Onwards)
COMMERCE
3.6 : Quantitative Analysis for Business Decisions - I
Time : 3 Hours Max. Marks : 70

Instructions : Answers should be written completely either in
English or in Kannada.

SECTION - A
1. Answer any five of the following sub-questions. Each sub-question carries
2 marks. (5%2=10)
a) What is a linear correlation ?
b) What are the regression lines ?
c) State the components of time series.
d) Expand (y —1)°=0.
e) What is sampling distribution ?
f) What do you mean by population of universe ?
g) What are independent events ?
SECTION - B
Answer any three of the following questions. Each question carries 6 marks.
(3%x6=18)
2. Find the rank correlation for the following data and give your comments :
Marks in Accounts (X) : 84 | 56| 89| 58| 59 | 67| 74| 78
Marks in Maths (Y) : 38 |.891 56.1.58.|, 838 8F |17
3. You are given the following data :
Variables X Y
Mean 47 96
Variance 64 81
Correlation co-efficient 0.36
between X and Y :

Calculate the regression line X on Y and also calculate X when Y = 88.

4, Interpolate the exports made in 2014 from the following using Binomial
expansion method.

Year

2012

2013

2014

2015

2016

2017

Exports (Crores )

210

230

?

280

300

350

P.T.O.
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5. What are different non-probability sampling techniques ?

6. The probability of an Indian having a car is 26%, the probability of Indian having
a house is 40%. The probability of Indian owning a car and a house is 18%.
What is the probability that Indian owns a car or a house ?

SECTION -C
Answer any three of the following question. Each question carries 14 marks.
(3x14=42)
7. From the following table, find out Karl Pearson’s co-efficient of correlation
between age and reading habits of students.

Age : 15 16 17 18 19 20
No. of students : 250 200 150 120 100 80
Regular Readers : 200 150 90 48 30 12

8. From the following data :
a) Calculate two regression equations.
b) Estimate the value of X when Y = 80 and Y when X = 90.

c) Determine the value of correlation co-efficient through the regression
co-efficients.

X 40 48 52 68 o

4 20 24 28 36 52
9. The following are the annual profits of a certain business.
Year’s 2011 | 2012 | 2013 2014] 2015] 2016 2017

Profits (in’000’s) 65 17 80 70 85 90 100

a) Fit a straight line trend to these figures by the method of least squares.
b) Estimate the profit for the year 2021.
c) Plot the actual and trend values on a graph.

10. Estimate the steel production for the year 2013 and 2015 with the help of the
following table :

Year : 2010 | 2011 | 2012 | 2013| 2014 | 2015 2016

Steel Production
(in 000 tonnes)

150 180 220 ? 330 ? 450

11. The following are the annual premium charged by an Insurance company for
a policy of Rs. 1,000. Estimate the premium payable at the age of 26 by using
Newton’s method.

Age (in years) 20 ok = = =
Premium k)
(for 1,000 policy) 28 =26~ ~—39 1~ 35 42
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1. NI CARFYTTTR 2T v TINN wVZoR. B WV BIN 20 wosnied.  (5x2=10)
a) wotie D3 BORT (OERAOWT®) RBHOLIOT DOTTEI ?
b) &o3ePod SeadnBdomdesd 2 :
C) RRCDT RTESD LOBITR) E94.
d) 2@y, PFoR (y—1)°=0.
e) TR0 DBTE OTTED 9
f) it eBdnessnd Fnms wrrsed ?
9) B30T P D0TTE ?
TN — W
350% CIRYIRTTL Foeto BINVT wugoR. B8 Tt & woBrb. (3x6=18)
2. 38038 QITNYos Feed Am ROLOTIIRY FOREROWD B2 3,509, QR.
SITREOS wosnex (X): | 84 | 56| 89| 58 59 [ 67] 74| 78
ReiSTeRBOR wosnso (Y): | 38 | 69| 56 | 56 | 63 | 78| 87| 77
3. B3ort 3N EFONISY, VBN :
rlo] X Y
5enyte) 47 96
zpzié 64 81
X =020 Y n¢ Rebam Aerewos i
ADNLOT !
X RS Y 8 &odezdod RROEBTEITR), FordodROWD, Tortodde, Y = 88 snon, X 8
WSy ForOBROWD.
4. BN QFTMPOT TN HFTB ARSRA, 2014 Be IRFT TRRY, BOREBOWD.
SR 2012 2013 2014 2015 2016 2017
d@ 3RCL TN, n’%*@m 210 230 ? 280 300 350

5. BotIReadZobu T ARG BREO ZoZEd CIRT) 2

6. 0.0, 1ROIOLRD TRy FPoOTR RosRects $eaw 26, Bodlohd, Fpond
RoBmReons Be@ 40. T0R) TR R F0RRR BRCOTR Ropdechs Sesz 18,

BINTO LT FoTO e BT BR0NTIN RoLImRectB03eRd 9
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: RN = 2
FPBOB CINTYTHRT RR3d TIRR wvgon. B8 BIR BOT2L, @osNEd. (3x14=42)
7. 89808 &espoor WTPFNCOT SR BBy L DAL QTE RBROWOT
RBRILBTT) T F LODT RIS DPIEE, FoR&BOWD.

m:oz%: 15 16 17 18 19 20
&JCT%@FH@ ?-309% - 250 200 150 120 100 80
VoW LTHNTH : 200 150 90 48 30 12
8. 3808 ORWTNYo
a) AVE) &HoWOROD ﬁ&oeﬁdwﬁ@ai& FOTILROWD.
b) Y = 80 azri X & eicadonty w083 X = 90 9wy Y tisetsny womet.
C) &O0BOFOD BBRILBNY BT FBH0OT ROEITRRD. FORIE WD,
X 40 48 52 68 e
Y 20 24 28 36 52
9. 39507 TN, Bos) RVHITE T&ET CRPRTINGS,
SR 2011| 2012 | 2013 | 2014 | 2015| 2016| 2017
<INt (000 . ﬁféc?q ) 65 77 80 70 85 90 100
B3 03 L903NY FTODDOT ¢
a) BOR, SNF T[T 2,08 e Feadosd @ddgodﬁgt BROQRO.
b) 2021 J¢ SR ORI SOTIIR.
C) T WL T aﬁ:’@e%ﬁeﬁsigt Jeszo SO 1O
10.

1T,

aefat 6@%&5 w%oaoocﬁ 2013 &2 2015 3¢ SRS N w&%dﬁcmabq 0TIV PR,

TR : 2010 | 2011 | 2012 | 2013 | 2014| 2015 | 2016
%}@‘ wmﬂdﬂ:

150 180 220 @ 30 7 450
('000 &=nv®) .

oR. 1,000 7Y TROAR BR FoBACVET DORGINE TOAFT SIRAblovele Ao

BB0808%3. 26 [e 5301),9@

Zna.
Sebmy (SHFREQ) TR B ey e - o 40
&R00%0 (85, NYQ))
B it 23 26 | 30 35 42

Q, TEIETT e000R) B BRNTRT VPR LomR




